
Developmental Mathematics I

Fractions

Name___________________________________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Identify the numerator and the denominator of the fraction.

1) 3
5

1)

A) numerator: 5
3

denominator: 3

B) numerator: 8
denominator: 1

C) numerator: 3
denominator: 5

D) numerator: 5
denominator: 3

2) 16
7

2)

A) numerator: 16
denominator: 7

B) numerator: 16
denominator: 7

C) numerator: 7
denominator: 16

D) numerator: 7
denominator: 16

Fill in the blank with one of the words or phrases listed below.

mixed number complex fraction like numerator
composite number equivalent cross products least common denominator
prime number improper fraction simplest form undefined
reciprocals proper fraction prime factorization denominator
0

3) A(n)  contains a whole number part and a fraction part. 3)
A) proper fraction B) complex fraction
C) improper fraction D) mixed number

4) A(n)  is one whose numerator is less than its denominator. 4)
A) improper fraction B) complex fraction
C) proper fraction D) mixed number

5) A(n)  is a fraction whose numerator is greater than or equal to its denominator. 5)
A) mixed number B) complex fraction
C) proper fraction D) improper fraction

Write the mixed number as an improper fraction.

6) 7 2
7

6)

A) 51
2

B) 51
7

C) 49
2

D) 49
7
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Write the improper fraction as a mixed or whole number.

7) 44
3

7)

A) 14 2
3

B) 13 2
7

C) 2
3

D) 15 2
3

Multiply.  Write the answer in simplest form.

8) 4
5

·
2
3

8)

A) 5
6

B) 15
8

C) 3
4

D) 8
15

9) 1
2

·
1
5

9)

A) 1
5

B) 2
5

C) 1
10

D) 2
7

10) 1
6

·
3
8

10)

A) 2
7

B) 3
48

C) 1
16

D) 3
11

11) 5
11

·
33
35

11)

A) 3
7

B) 7
3

C) 15
7

D) 175
363

Divide and simplify.

12) 2
7

÷ 1
13

12)

A) 3
20

B) 7
26

C) 26
7

D) 2
91

13) 2
3

÷ 7
8

13)

A) 12
7

B) 21
16

C) 16
21

D) 7
12

14) 6
7

÷ 6
5

14)

A) 7
5

B) 35
36

C) 36
35

D) 5
7
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15) 5
3

÷ 1
9

15)

A) 15 B) 27
5

C) 1
15

D) 5
27

Add or subtract as indicated. Write the answer in simplest form.

16) 9
10

+
1
15

16)

A) 2
5

B) 29
30

C) 1
15

D) 29
5

17) 1
20

+
5
16

17)

A) 9
80

B) 3
40

C) 3
10

D) 29
80

18) 7
20

-
5
8

18)

A) 13
16

B) -
11
40

C) -
1
96

D) -
44
160

19) 1
5

-
1
12

19)

A) 7
5

B) 1
5

C) 7
60

D) 1
60

Perform the indicated operation. Write the answer as a mixed number in simplest form.

20) 1 5
9

· 11 4
7

20)

A) 11 20
63

B) 20 C) 19 D) 18

21) 4 6
7

· 1 1
8

21)

A) 5 13
28

B) 5 7
19

C) 38 1
4

D) 1 17
28

22) 6 ÷ 2 4
7

22)

A) 2 1
3

B) 15 3
7

C) 15 1
3

D) 2 3
7

23) 1 4
5

÷ 1
2

23)

A) 3 1
2

B) 3 3
5

C) 3 3
10

D) 9
10
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Add or subtract as indicated. Write the answer as a mixed number in simplest form.

24) 1 1
4

+ 1 1
5

24)

A) 2 9
20

B) 9
20

C) 9
10

D) 4
9

25) 2 4
15

+ 1 7
20

25)

A) 3 23
60

B) 3 37
60

C) 3 11
60

D) 3 5
12

26) 4 11
20

- 1 1
12

26)

A) 3 7
15

B) 3 8
15

C) 3 1
6

D) 2 7
15

27) 14 4
7

- 6 1
3

27)

A) 7 11
21

B) 8 5
21

C) 6 D) 8 11
21
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